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A 20.6+18.2=38.8
m 39
212.9+166.4=379.3
RC-40 m3 380 379.3/684.6=0.55C
(20F)
t=4cm m2 680
18-8-2588 034032401520
m3 0.4 35
((0.37+1.01)*2+1.5
m2 06 )*0.15
1200><2217 t=4.5mm 37 7/
984
30>=<30><3 136 7/
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H=800 21.4+1.2+18+40+6
m 87 =86.6




W=15cm m 312
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m2 m2 m3 m2

( (t=4cm) ( (t=4cm) m ( (t=4cm)
0+ 0.00  12.2 | 12.2 | 12.1 | 0.03 | 0.13 | 0.06 |40.25
0+ 4.10  12.2 | 12.2 | 10.4 0.06 12.20 |12.20 |11.25 0.06 4.10 | 50.0 | 50.0 | 46.1 0.2
0+ 4.10  12.5 | 12.3 | 10.3 0.06 12.35 [12.25 |10.35 0.06 0.00 0.0 0.0 0.0 0.0
0+ 8.20  12.5 | 12.3 | 10.3 0.06 12.50 |12.30 |10.30 0.06 4.10 | 51.3 | 50.4 | 42.2 0.2
0+ 8.20 | 12.2 | 12.2 | 10.4 | 0.04 0.13 | 0.06 |40.27 12.35 112.25 10.35 ' 0.035 |0.130 | 0.06 |40.260 0.00 0.0 0.0 0.0 | 0.29 1.07 0.0 1330.13
0+ 17.00 | 12.0 | 12.0 6.6 0.05  0.11 | 0.06 |40.30 12.10 /12.10 @ 8.50 1 0.045 |0.120 | 0.06 |40.285 8.80 | 106.5 | 106.5 @ 74.8 | 0.40 1.06 0.5 354.51
0 + 18.000 0.0 0.0 6.00 | 3.30 1.00 6.0 3.3

18.0 | 207.8 | 212.9 | 166.4 = 0.69 | 2.13 0.9 684.64




